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& 1 % Fefp ald (Adjacency) ? (10 »)
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r2av k2425445 (ABCDE) » #2ARET AT o FR A
i 2 B (From-to Chart) (8 &)
©-2 = B (Flow-Between Chart) (5 4 )
& ® 2 B (Relationship Chart) (7 4 )

A & AT Al F = iEE Bk
A 1-2-3-5-6-7-8-2 1,000 2
B 2-4-6-7-9-6-3 200 1
C 2-3-1-4-7-8-9 400 1
D 1-4-5-7-9-6-8 800 2
E 2-3-4-5-7-8-6 600 3
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Minimize f(X):ZG:wid(x,Pi)

i=1
Ae
wi=f 1 (i) 5|4:¢ g2er s (X) #uing (i=1,--6)
X=(xy)
P, =(a;,b;)

dX,P)=%:¢ B4 (X) 2R (i) epedg

Ok * 2 & jE3r (Rectilinear Distance) (15 4 )
d(X,P;) =[x -a;|+|y - bj]

Dk # * - =t pe#r (Quadratic Distance) (15 4 )
d(X,P) =(x-a;)* +(y-b;)




